PARTS BREAKDOWN ARTIKA/ARTIKATSS - FRAME

15" See Motor

I5° See Pump

VI

A

Pos Code Description Qty. Legend
1 1682310  Closing plug 1 Artika / Artika TSS - Frame
2 1680720  Yellow casing Tss 1
1680723  Black casing 1
3 1680740 Black handle 1
4 1680730 Black casing 1
5 1261560  Screw 3.9x16 6

NORTH
AMERICA

AR North America ® Phone: 763-398-2008 ¢ Fax: 763-398-2009 « www.arnorthamerica.com ¢ info@arnorthamerica.com First Choice When Quality Matters




PARTS BREAKDOWN ARTIKA / ARTIKA TSS - Pump

¢’/
2
Repair Kits
100 5
230 17\©
200.Q)
e
Valves Pistons 15 ¢ Gaskets
Kit 2574 Kit 2734 Kit 2687
Pos Code Description Qty. Legend
1 1340260 Suction strainer 1 Artika / Artik]a TSS - Pump
2 2101000 Screw m 4x15 2
3 2100540 Suction fitting 1
5 550350 O-Ring 023.81x2.62 1
7 2109051 Complete valve 6
8 850850 Screw M 6x30 3
9 2020120 Piston guide 212 1
10 880840 O-Ring 09.25x1.78 3
11 2123 Pump head & O-Ring 1
13 1260760 Screw M 5x20 4
‘I 4 42020 Outlet Fitting 755 1
2029150 Outlet Fitting 1
15 2200140 Gasket o12x20 3
17 394280 O-Ring 012.42x1.78 1
18 2560480 Bushing 1
19 2320070 Bushing o12 3
20 1683500 Seal 3
21 2200210 Screw M 6x25 4
22 2020150 Spring 3
23 2020130 Piston o12 3
24 2020140 Spring plate 3
25 2021570 Bearing 1
28 1680680 O-Ring 095x2 1
30 1461470 Attchmt for tap & gasket 3/4"G(F) 1
33 42019 Pump assembly kit Tss 1
2029451 Pump assembly kit 1
NORTH
AMERICA

AR North America ® Phone: 763-398-2008 * Fax: 763-398-2009 « www.arnorthamerica.com » info@arnorthamerica.com First Choice When Quality Matters



PARTS BREAKDOWN ARTIKA / ARTIKA TSS - MoTOR

Pos Code Description Qty. Legend
1 2020340 Capacitor box Tss 1 Artika / Artika TSS - Motor
2 850840 O-Ring 622
3 1461330 Capacitor 80 uF

5 1261551  Screw 3.9x13

6

8

—_

1682270 Switch sa
1261570  Screw 3.9x9.5
9 1381980 Cover
10 1381940 Switch frame
11 1682280 Gland
12 1343400 Cable
13 1682420 Oil dip stick
14 2000240 O-Ring @5.23x2.62
15 840020 Seal ring
16 1682110 Bearing
17 1680170 Wobble plate
18 4835 Electric motor TSS
19 1680250 Fan
20 1340350 Seal ring
21 2029721 Assembly TSS
22 2021960 Clip

_ e e m s s s N W

NORTH
AMERICA

AR North America ® Phone: 763-398-2008 ¢ Fax: 763-398-2009 « www.arnorthamerica.com ¢ info@arnorthamerica.com First Choice When Quality Matters




